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BIOMOLECULES

Practice Problems

1. Define cellular pool.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_BA10MGkMEoIW

2. List the protoplasmic elements .

o Watch Video Solution

3. Name two fractions obtained during

chemical analysis of living tissue.

o Watch Video Solution

4. What are building blocks of proteins ?


https://dl.doubtnut.com/l/_BA10MGkMEoIW
https://dl.doubtnut.com/l/_oH2q4ZJJisQe
https://dl.doubtnut.com/l/_i7PWWWO9hJGr
https://dl.doubtnut.com/l/_F2X4SnKvAsld

° Watch Video Solution

5. Name two basic amino acids .

° Watch Video Solution

6. What do you mean by Zwitter ion ?

° Watch Video Solution



https://dl.doubtnut.com/l/_F2X4SnKvAsld
https://dl.doubtnut.com/l/_1UzSeqKRt9g0
https://dl.doubtnut.com/l/_43xbDvmjCU1D

7. List one difference between essential and

non-essential amino acids.

o Watch Video Solution

8. Give the general formula of monosugars .

o Watch Video Solution

9. Give one difference between furanose and

pyranose ring .



https://dl.doubtnut.com/l/_sZIegYxJdAkD
https://dl.doubtnut.com/l/_A2S8hd1bRuDd
https://dl.doubtnut.com/l/_M8HPuXolu5E9

o Watch Video Solution

10. What are building blocks of nucleic acids ?

o Watch Video Solution

11. List three components of a nucleotide .

o Watch Video Solution

12. Name four types of nucleotides of RNA.



https://dl.doubtnut.com/l/_M8HPuXolu5E9
https://dl.doubtnut.com/l/_1bJD38OZbogK
https://dl.doubtnut.com/l/_5jBpCjyA5npp
https://dl.doubtnut.com/l/_2Xk4MGwN2Ioy

o Watch Video Solution

13. List a difference between nucleoside and

nucleotide.

o Watch Video Solution

14. What are triglycerides .

o Watch Video Solution



https://dl.doubtnut.com/l/_2Xk4MGwN2Ioy
https://dl.doubtnut.com/l/_gS0DuIEt2js5
https://dl.doubtnut.com/l/_pCFMRmj2Q4Kx

15. Give one difference between primary and

secondary metabolites.

o Watch Video Solution

Practice Problems Biomacromolecules

1. Name the macrobiomolecules found in acid -

insoluble fraction of cell.

° Watch Video Solution



https://dl.doubtnut.com/l/_aYyDK5eFGfVo
https://dl.doubtnut.com/l/_WdJ5tV1lfGuF
https://dl.doubtnut.com/l/_X1vJd2sKjMFY

2. Which type of bonds are found in the

proteins and polysaccharides .

o Watch Video Solution

3. What does tertiary structure of a protein

indicate ?

° Watch Video Solution

4. Name two transport proteins .

| e |


https://dl.doubtnut.com/l/_X1vJd2sKjMFY
https://dl.doubtnut.com/l/_C4qIofeNOrCJ
https://dl.doubtnut.com/l/_aLrc7Uk9JCDi

& Watch Video Solution I

5. List one difference between

homopolysaccharide or heteropolysaccharide.

o Watch Video Solution

6. Why cellulose , starch and glycogen are

commonly called glucans ?

° Watch Video Solution



https://dl.doubtnut.com/l/_aLrc7Uk9JCDi
https://dl.doubtnut.com/l/_dnSerTK2fIc7
https://dl.doubtnut.com/l/_MzDg0Y3Nvglu
https://dl.doubtnut.com/l/_9copXDWAKnPa

7.Why is chitin also called fungal cellulose?

° Watch Video Solution

8. Give the function of heparin .

° Watch Video Solution

9. Which types of bonds are found in nucleic

acids?

o Watch Video Solution



https://dl.doubtnut.com/l/_9copXDWAKnPa
https://dl.doubtnut.com/l/_VPtnmGN2mjoQ
https://dl.doubtnut.com/l/_GANKEvSan9Rh

10. What do you mean by antiparallel nature of

two DNA chains ?

o Watch Video Solution

11. Give one difference between B-DNA and Z-

DNA.

o Watch Video Solution



https://dl.doubtnut.com/l/_egvEUbehnYTN
https://dl.doubtnut.com/l/_O9VBudXlj6Lh

12. What do you mean by amphipathic nature

of phospholipids ?

o Watch Video Solution

13. Name two derived lipids.

o Watch Video Solution

Practice Problems Enzymes


https://dl.doubtnut.com/l/_vAzu0BcVGvHm
https://dl.doubtnut.com/l/_JhaC6oTC9kaf

1. Name two non-proteinaceous enzymes .

o Watch Video Solution

2. Define turn over number .

o Watch Video Solution

3. Who proposed lock and key hypothesis of

enzyme activity ?

° Watch Video Solution



https://dl.doubtnut.com/l/_WT7wIf68Unyn
https://dl.doubtnut.com/l/_mUX5BbKetech
https://dl.doubtnut.com/l/_Euiumz3MkC5z

4. What do you mean by Km-value ?

o Watch Video Solution

5. Define denaturation of enzymes .

o Watch Video Solution

6. Give one example of competitive inhibition .

o Watch Video Solution



https://dl.doubtnut.com/l/_Euiumz3MkC5z
https://dl.doubtnut.com/l/_Jsd8tNzkPeoO
https://dl.doubtnut.com/l/_zH3Yai6ZRbeQ
https://dl.doubtnut.com/l/_RwFsBWPpogML

7. List one difference between prosthetic

group and coenzyme.

o Watch Video Solution

Ncert File Ncert Exercise Questions

1. What are macromolecules ? Give examples .

° Watch Video Solution



https://dl.doubtnut.com/l/_RwFsBWPpogML
https://dl.doubtnut.com/l/_GkWMu3ABCdDT
https://dl.doubtnut.com/l/_TeFC9aipzj31
https://dl.doubtnut.com/l/_Js21pL5T3lZm

2. |lllustrate a glycosidic, peptide and a

phosphodiester bond.

o Watch Video Solution

3. What is meant by tertiary structure of

proteins ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Js21pL5T3lZm
https://dl.doubtnut.com/l/_SHU8ysVqy9N5

4. Find and write down structures of 10
interesting small molecular weight
biomolecules. Find if there is any industry
which manufactures the compounds by

isolation. Find out who are the buyers.

o Watch Video Solution

5. Proteins have primary structure. If you are
given a method to know which amino acid is at

either of the two termini (ends) of a protein,


https://dl.doubtnut.com/l/_cg2WGvo8HGeu
https://dl.doubtnut.com/l/_hLdAt690OcrC

can you connect this information to purity or

homogeneity of a protein?

° Watch Video Solution

6. Find out and make a list of proteins used as
therapeutic agents. Find other applications of

proteins (e.g., cosmetics, etc.)

° Watch Video Solution

7. Explain the composition of triglyceride.


https://dl.doubtnut.com/l/_hLdAt690OcrC
https://dl.doubtnut.com/l/_ypM5YaLMXino
https://dl.doubtnut.com/l/_fbJ2POAfCcFC

° Watch Video Solution

8. Can you describe what happens when milk is
converted into curd or yoghurt from your

understanding of proteins?

° Watch Video Solution

9. Can you attempt building models of
biomolecules using commercially available

atomic models (Ball and Stick models).

| e |


https://dl.doubtnut.com/l/_fbJ2POAfCcFC
https://dl.doubtnut.com/l/_Y3yHcHe96Jc8
https://dl.doubtnut.com/l/_RHKUeAxIqhGc

& Wwatch Video Solution I

10. Attempt titrating an amino acid against a
weak base and discover the number of
dissociating (ionizable) functional groups in

the amino acid.

o Watch Video Solution

11. Draw the structure of the amino acid

alanine.

l ° View Text Solution


https://dl.doubtnut.com/l/_RHKUeAxIqhGc
https://dl.doubtnut.com/l/_js8w1gvIa8PS
https://dl.doubtnut.com/l/_aS0mKl5JzDKk

12. What are gums made of ? Is fevicol

different ?

o Watch Video Solution

13. Find out a qualitative test for proteins, fats
and oils, amino acids and test any fruit juice,

saliva, sweat and urine for them.

o Watch Video Solution



https://dl.doubtnut.com/l/_aS0mKl5JzDKk
https://dl.doubtnut.com/l/_UhcBv7MsTaws
https://dl.doubtnut.com/l/_o4xposlakkPJ

Ncert File Ncert Exemplar Problems Multiple

Choice Questions

1. It is said that elemental composition of
living organisms and that of inanimate objects
(like earth's crust ) are similar in the sense
that all the major elements are present in
both. Then what would be the difference
between these two groups ?

Choose a correct answer from the following.

A. Living organisms have more gold in

them than inanimate objects


https://dl.doubtnut.com/l/_uXeVNp8FY6qE

B. Living organisms have more water in

their body than inanimate objects

C.Living organisms have more carbon,

oxygen and hydrogen per unit mass

than inanimate objects.

D. Living organisms have more calcium in

them inanimate

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_uXeVNp8FY6qE
https://dl.doubtnut.com/l/_bgzvl3AEc6QO

2. Many elements are found in living

organisms either free or in the form of

compounds. One of the following is not found

in living organisms :

A. Silicon

B. Magnesium

C.lron

D. Sodium

Answer: A

[ o Watch Video Solution


https://dl.doubtnut.com/l/_bgzvl3AEc6QO

3. Aminoacids, as the name suggests, have
both an amino group and a carboxyl group in
their structure. In addition, all naturally
occurring aminoacids (those which are found
in proteins) are called L-aminoacids. From this,
can you guess from which compound can the

simplest aminoacid be made

A. Formic acid

B. Methane

C. Phenol


https://dl.doubtnut.com/l/_bgzvl3AEc6QO
https://dl.doubtnut.com/l/_rvnP7F1y1dRN

D. Glycine

Answer: A

° Watch Video Solution

4. Many organic substances are negatively
charged e.g., acetic acid, while others are
positively charged e.g, ammoniumion. An
aminoacid under certain conditions would

have both positive and negative charges


https://dl.doubtnut.com/l/_rvnP7F1y1dRN
https://dl.doubtnut.com/l/_knx9PybckpLH

simultaneously in the same molecule. Such a

form of aminoacid is called

A. Positively charged form

B. Negatively charged form

C. Neutral form

D. Zwitterionic form

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_knx9PybckpLH

5. Sugars are technically called carbohydrates,
referring to the fact that their formulae are
only multiple of C(H30). Hexoses therefore
have six carbons, twelve hydrogens and six
oxygen atoms. Glucose is a hexose. Choose

from among the following another hexose.

A. Fructose

B. Erythrose

C. Ribulose

D. Ribose


https://dl.doubtnut.com/l/_kvMmUg419fkb

Answer: A

° Watch Video Solution

6. When you take cells or tissue pieces and
grind them with an acid in a mortar and
pestle, all the small biomolecules dissolve in
the acid. Proteins, polysaccharides and nucleic
acids are insoluble in mineral acid and get
precipitated. The acid soluble compounds
include aminoacids, nucleosides, small sugars

ets. When one adds a phosphate group to a


https://dl.doubtnut.com/l/_kvMmUg419fkb
https://dl.doubtnut.com/l/_JIGgoxMqdY7T

nucleoside one gets another acid soluble

biomolecule calle

A. Nitrogen base

B. Adenine

C. Sugar phosphate

D. Nucleotide

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_JIGgoxMqdY7T

7. When we homogenise any tissue in an acid

the acid soluble pool represents

A. Cytoplasm

B. Cell membrane

C. Nucleus

D. Mitochondria

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_aB1DeEA0tAih
https://dl.doubtnut.com/l/_PU7Idtc5UZuI

8. The most abundant chemical in living

organisms could be

A. Protein

B. Water

C. Sugar

D. Nucleic acid

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_PU7Idtc5UZuI

9. A homopolymer has only one type of
building block called monomer repeated 'n'
number of times. A heteropolymer has more
than one type of monomer. Proteins are
heteropolymers made of amino acids. While a
nucleic acid like DNA or RNA is made of only 4
types of nucleotide monomers, proteins are

made of

A. 20 types of monomers

B. 40 types of monomers

C. 3 types of monomers


https://dl.doubtnut.com/l/_KnqxOK7xpqlA

D. only one type of monomer

Answer: A

° Watch Video Solution

10. Proteins perform many physiological
functions. For example, some function as
enzymes. One of the following represents an
additional function that some proteins

discharge

A. Antibiotics


https://dl.doubtnut.com/l/_KnqxOK7xpqlA
https://dl.doubtnut.com/l/_g1SyL2ZcbjJB

B. Pigments conferring colour to skin

C. Pigments making colours of flowers

D. Hormones

Answer: D

o Watch Video Solution

11. Glycogen is a homopolymer made of:

A. Glucose units

B. Galactose units


https://dl.doubtnut.com/l/_g1SyL2ZcbjJB
https://dl.doubtnut.com/l/_1WCErICivfj9

C. Ribose units

D. Aminoacids

Answer: A

o Watch Video Solution

12. The number of 'ends' in a glycogen

molecule would be

A.Equal to the number of branches plus

one


https://dl.doubtnut.com/l/_1WCErICivfj9
https://dl.doubtnut.com/l/_SphtdWgRDtNY

B. Equal to the number of branch points

C.One

D. Two, one on the left side and another on

the right side

Answer: A

o Watch Video Solution

13. A pure protein should normally have

A. Two ends


https://dl.doubtnut.com/l/_SphtdWgRDtNY
https://dl.doubtnut.com/l/_a240wmzERfQD

B. One end

C. Three ends

D. No ends

Answer: A

o Watch Video Solution

14. Enzymes are biocatalysts. They catalyse
biochemical reaction. In general they reduce
activation energy of reactions. Many physio-

chemical processes are enzyme mediated.


https://dl.doubtnut.com/l/_a240wmzERfQD
https://dl.doubtnut.com/l/_DvDUgdjlDHfW

Some examples of enzyme mediated reactions

are given below. Tick the wrong entry

A. Dissolving C'O, in water

B. Untwining the two strands of DNA

C. Hydrolysis of sucrose

D. Formation of peptide bond

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_DvDUgdjlDHfW

Ncert File Ncert Exemplar Problems Very Short

Answer Type Questions

1. Medicines are either man made (i.e,
synthetic) or obtained from living organisms
like plants, bacteria, animals, etc., and hence,
the latter are called natural products.
Sometimes, natural products are chemically
altered by man to reduce toxicity or side
effects. Write against each of the following
whether they were initially obtained as a

natural product or as a synthetic chemical.

| & I


https://dl.doubtnut.com/l/_P0KX9wZu4iz9

| ¥ Watch Video Solution |

2.Select an appropriate chemical bond among
ester bond, glycosidic bond, peptide bond and
hydrogen bond and write against each of the
following :

(a) Polysaccharide. . .........

(b) Protin ..........

(c)Fat............

(d)Water..........

° Watch Video Solution



https://dl.doubtnut.com/l/_P0KX9wZu4iz9
https://dl.doubtnut.com/l/_elIrmPNsK5PT
https://dl.doubtnut.com/l/_bEV85ND62Szn

3. Write the name of any one amino acid,

sugar, nucleotide and fatty acid.

o View Text Solution

4. Reaction given below is catalysed by
oxidorecductase between two substrates A
and A complete the reaction.

A reduced + A oxidised —

° Watch Video Solution



https://dl.doubtnut.com/l/_bEV85ND62Szn
https://dl.doubtnut.com/l/_kJ0ZxP9fdCVQ
https://dl.doubtnut.com/l/_wgPDWt3GijBk

5. How are prosthetic groups different from

co-factors?

o Watch Video Solution

6. Glycine and alanine are different with
respect to one substituent on the a-carbon.
What are the other common substituent

groups ?

° Watch Video Solution



https://dl.doubtnut.com/l/_wgPDWt3GijBk
https://dl.doubtnut.com/l/_dnzidGW0mIbj

7. Starch, Cellulose, Glycogen, Chitin are
polysaccharides found among the following,
Choose the one appropriate and write against

each:

&2

o View Text Solution

Ncert File Ncert Exemplar Problems Short

Answer Type Questions



https://dl.doubtnut.com/l/_wLJnclJtytc5

1. Enzymes are proteins, Proteins are long
chains of amino acids linked to each other by
peptide bonds. Amino acids have many
functional groups in their structure.

These functional groups are many of them at
least, ionisable. As they are weak acids and
bases in chemical nature, this ionisatio is
infuluenced by pH of the solution. For many
enzymes, activity is influenced by surrounding

pH. This is depicted in the curve below, explain


https://dl.doubtnut.com/l/_4afM3hIht5cs

briefly.

Enzyme activity —-

pH —-

o Watch Video Solution

2. Is rubber a primary metabolite or a
secondary metabolite? Write four sentences

about rubber.


https://dl.doubtnut.com/l/_4afM3hIht5cs
https://dl.doubtnut.com/l/_oNGRyZAZceNq

° Watch Video Solution

3. Schematically represent primary, secondary
and tertiary structures of a hypothetical

polymer say for example a protein.

° Watch Video Solution

4. Nucleic acids exhibit secondary structure,

justify with example.

o Watch Video Solution



https://dl.doubtnut.com/l/_oNGRyZAZceNq
https://dl.doubtnut.com/l/_XiPMNyQmm24E
https://dl.doubtnut.com/l/_MYi620YlRUQr

5. Comment on the statement 'living state is a
non-equilibrium steady state to be able to

perform work :

o Watch Video Solution

Ncert File Ncert Exemplar Problems Long Answer

Type Questions

1. Formation of Enzyme substrate complex (ES)

is the first step in the caalysed reactions.


https://dl.doubtnut.com/l/_MYi620YlRUQr
https://dl.doubtnut.com/l/_1lmWku9Rjskg
https://dl.doubtnut.com/l/_jgsukofBJsrk

Describe the other steps till the formation of

product.

° Watch Video Solution

2. What are different classes of enzymes?
Explain any two with the type of reactions they

catalyse.

° Watch Video Solution



https://dl.doubtnut.com/l/_jgsukofBJsrk
https://dl.doubtnut.com/l/_OWgQjAjehH3L

3. Nucleic acid exhibit secondary structure.

Describe through Watson-Crick model.

° Watch Video Solution

4. What is the difference between a nucleotide
and nucleoside ? Give two examples of each

with their structure.

° Watch Video Solution



https://dl.doubtnut.com/l/_mtrvD9pUWMBk
https://dl.doubtnut.com/l/_us0eWkBGkCfa

5. Describe various forms of lipid with a few

examples.

o Watch Video Solution

Hots Very Short Answer Questions

1. What is the composition of triglyceride?

o Watch Video Solution



https://dl.doubtnut.com/l/_RgI9fbqx6VIy
https://dl.doubtnut.com/l/_fIoEHUzURS97

2. Name the chemical used for grinding the
animal tissue for chemical analysis of organic

compounds.

o Watch Video Solution

3. Name the (a) Fruit sugar (b) Blood sugar (c)

Milk Sugar (d) Cane sugar

° Watch Video Solution



https://dl.doubtnut.com/l/_YDtKa3uyHRXj
https://dl.doubtnut.com/l/_E9U3OANtzpaR

4. Name the amino acids involved in urea cycle.

o Watch Video Solution

5. What are prostaglandins ?

o Watch Video Solution

6. Sucrose is a non-reducing sugar. Maltose

and lactose are reducing sugars. Why ?

o Watch Video Solution



https://dl.doubtnut.com/l/_fTSb4fGHYcid
https://dl.doubtnut.com/l/_jyGOFDCfkEHu
https://dl.doubtnut.com/l/_b4eKZnrSpKT8

7. Write two uses of cellulose.

o Watch Video Solution

8. Which homopolysaccharide is called animal

starch?

o Watch Video Solution

9. Name the polymer of fructose.



https://dl.doubtnut.com/l/_b4eKZnrSpKT8
https://dl.doubtnut.com/l/_h6mpZQs6gb3P
https://dl.doubtnut.com/l/_1XrtJkMutoPl
https://dl.doubtnut.com/l/_e02MMIB0mg8S

o Watch Video Solution

10. Name one heteropolysaccharide.

o Watch Video Solution

11. Who proposed the lock and key hypothesis

?

o Watch Video Solution



https://dl.doubtnut.com/l/_e02MMIB0mg8S
https://dl.doubtnut.com/l/_Yr3bGYTggwTx
https://dl.doubtnut.com/l/_qqCZEljNTYyx

12. What is the chemical nature of enzymes ?

o Watch Video Solution

Hots Short Answer Questions

1. What would happen if salivary amylase

which acts specifically on starch enters the

stomach and mixes with gastric juice ?

° Watch Video Solution



https://dl.doubtnut.com/l/_RHc8PO000lGp
https://dl.doubtnut.com/l/_x1OpBaXRVwGQ
https://dl.doubtnut.com/l/_CPYT6LRE99oh

2. Write the formula representation of rate of

chemical reaction. Define.

o Watch Video Solution

3. Why starch and glycogen are more suitable

as storage product than glucose ?

° Watch Video Solution

4. How do proteins act as carrier proteins?

| e |


https://dl.doubtnut.com/l/_CPYT6LRE99oh
https://dl.doubtnut.com/l/_sN8TW9WZvrHR
https://dl.doubtnut.com/l/_LGs08EuiNC1H

& Wwatch Video Solution ]

5. What is cholesterol ? Name the two forms of

cholesterol.

o Watch Video Solution

6. What are pyrimidines ?

o Watch Video Solution



https://dl.doubtnut.com/l/_LGs08EuiNC1H
https://dl.doubtnut.com/l/_l8GTGMxjF3nU
https://dl.doubtnut.com/l/_y584m5YvGzhl

7.What is peptide bond ?

o Watch Video Solution

8. Name the essential fatty acids.

o Watch Video Solution

9. What are polyunsaturates ?

o Watch Video Solution



https://dl.doubtnut.com/l/_7lHC811j759q
https://dl.doubtnut.com/l/_r3oDiNU7A04h
https://dl.doubtnut.com/l/_i00CXr4uelEu

10. What are globular proteins?

o Watch Video Solution

Hots Short Answer Type Questions

1. How does temperature and pH affect activity

of enzyme ?

o Watch Video Solution



https://dl.doubtnut.com/l/_BPjMIsOfFGxR
https://dl.doubtnut.com/l/_1EssOrLWLtPn

2. Differentiate between prosthetic group and

co-enzyme.

o Watch Video Solution

3. What are the factors which affect the action

of enzyme ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Ie2x2kbMfGFm
https://dl.doubtnut.com/l/_jiDwGWadg3vi

4. Differentiate between a-helix and 8 pleated

structure of proteins.

° Watch Video Solution

5. Describe the composition of triglycerides.

° Watch Video Solution

6. Differentiate between primary metabolites

and secondary metabolites.



https://dl.doubtnut.com/l/_YdPu1mCvJ9P6
https://dl.doubtnut.com/l/_a67LOWP5FTd1
https://dl.doubtnut.com/l/_LDKQnNrwUtS1

o Watch Video Solution

7.What are gums made of ? Is fevicol different

?

o Watch Video Solution

Hots Long Answer Type Question

1. What is the concept of metabolism ? Discuss

the metabolic basis of life.

| e |


https://dl.doubtnut.com/l/_LDKQnNrwUtS1
https://dl.doubtnut.com/l/_w9m2h2XV4gbX
https://dl.doubtnut.com/l/_VageKg183sam

& Watch Video Solution

2. Discuss the functions of polysaccharides.

° Watch Video Solution

3. DNA @ RNA ¥ 31X faif@gul

° Watch Video Solution



https://dl.doubtnut.com/l/_VageKg183sam
https://dl.doubtnut.com/l/_6xc1k4ymS2Vb
https://dl.doubtnut.com/l/_48T3BrfZzUc8

4. What are different classes of enzyme ?
Explain any two with the type reaction they

catalyse.

o Watch Video Solution

5. Discuss the tertiary structure of proteins.

o Watch Video Solution

Quick Memory Test Say True Or False


https://dl.doubtnut.com/l/_YYXgO66aGoHa
https://dl.doubtnut.com/l/_nTvcGmZEH7D2
https://dl.doubtnut.com/l/_IomOzNb09aVv

1. Proteins are one of the most diverse

molecules of cell.

o Watch Video Solution

2. Oval and eccentric starch grains are found

in maize,

° Watch Video Solution

3. FMN is related with vitamin B, .

| e |


https://dl.doubtnut.com/l/_IomOzNb09aVv
https://dl.doubtnut.com/l/_6r0aRh78oZdQ
https://dl.doubtnut.com/l/_oq9EjrTPI2Ea

& Wwatch Video Solution ]

4. Adenylic acid is an acidic amino acid.

° Watch Video Solution

5. Tryptophan takes part in the formation of

vitamin nicotinamide.

o Watch Video Solution



https://dl.doubtnut.com/l/_oq9EjrTPI2Ea
https://dl.doubtnut.com/l/_LPVCWrVAdkjP
https://dl.doubtnut.com/l/_7r6Ka3AgC39f

6. Cephalin is found in liver.

o Watch Video Solution

7. In a nucleotide, purine or pyrimidine
nitrogenous base is joined by deoxyribose

sugar which is further linked to phosphate.

o Watch Video Solution



https://dl.doubtnut.com/l/_j149zFlosqgv
https://dl.doubtnut.com/l/_QmvcBWTnFrxz

8. Bees wax consists of palmitic acid and

myricyl alcohol.

o Watch Video Solution

9. Gliadin protein found in wheat has the

structure 0685H1068N195 0211 S5.

o Watch Video Solution



https://dl.doubtnut.com/l/_sSpdTzyrizHB
https://dl.doubtnut.com/l/_qxfQ3cJGdYym

10. Glucose, fructose and lactose are isomers

having a formula CgH150¢

o Watch Video Solution

11. Amino acids can be acidic, basic or neutral.

o Watch Video Solution

12. Oil dissolves in water.

o Watch Video Solution



https://dl.doubtnut.com/l/_w4CS1EiPHRwc
https://dl.doubtnut.com/l/_4QIBy2vLVbcz
https://dl.doubtnut.com/l/_lLmUfxyBF2sz

13. Thyroxine is derived from tyrosine.

o Watch Video Solution

14. Removal of amino group from amino acids
in animals is carried out by transamination

only.

o Watch Video Solution

Quick Memory Test Complete The Missing Links


https://dl.doubtnut.com/l/_lLmUfxyBF2sz
https://dl.doubtnut.com/l/_qwBlhWKpkWhR
https://dl.doubtnut.com/l/_cPPcys4ME3gK

2, e and e, are purine

nitrogenous bases.

° View Text Solution



https://dl.doubtnut.com/l/_qhLuH4QUaT6D
https://dl.doubtnut.com/l/_7a3Qre6Hz9FK

- TR is cofactor in enzyme cytochrome

oxidase,

o Watch Video Solution

4. A true fat with three molecules of fatty acids

is called ....

o Watch Video Solution



https://dl.doubtnut.com/l/_EirFcyWagjF0
https://dl.doubtnut.com/l/_FOHcIkTdjVjw

5. Three pyrimidines are thymine, cytosine and

o Watch Video Solution

6. DNA has .............. instead of wracil.

o Watch Video Solution

7.rRNA is associated with ...

o View Text Solution



https://dl.doubtnut.com/l/_XySBCRvyG7LX
https://dl.doubtnut.com/l/_sU6Gxr8F93qw
https://dl.doubtnut.com/l/_GWAFWdlKhRQ6

8.Keratin is a .... c....... protein

o Watch Video Solution

9. The carbohydrate molecule cellulose is a

o Watch Video Solution



https://dl.doubtnut.com/l/_GWAFWdlKhRQ6
https://dl.doubtnut.com/l/_cH6DMYxzEyW4
https://dl.doubtnut.com/l/_eI93B7PVfCjP

10. The double helix model of DNA was

proposed by ... and ...

o View Text Solution

polysaccharides.

storage

o Watch Video Solution



https://dl.doubtnut.com/l/_vePOX9UARJTS
https://dl.doubtnut.com/l/_UzGBs1jUChUh

12. When amino acid chain is arranged like a

coil it is called is

o Watch Video Solution

13. Chitin is a polysaccharide found in the

..................... of crabs and prawn etc.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZuAMck1ahVkC
https://dl.doubtnut.com/l/_0IRBzwSNEwUI

14. The kind of protein which can enhance the

efficiency of a biochemical reaction is called an

° Watch Video Solution

15. The substances which stop or slow down

the reaction are called .

o Watch Video Solution



https://dl.doubtnut.com/l/_PtfsVb6pxDhI
https://dl.doubtnut.com/l/_IIZS2ZPUkd6k

16. A protein molecule has at least 200 to 300

....................... linkages

o Watch Video Solution

17. The enzymes which break down proteins

into amino acid molecules are called as ...

o Watch Video Solution



https://dl.doubtnut.com/l/_nj8JvGkA7lvF
https://dl.doubtnut.com/l/_4Iwfk3fsi95t

18. When the enzymes with slightly different
molecular structure can also perform the

identical activities , they are called as ...

o Watch Video Solution

19. When the production of the cell is inhibited

by its own metabolites, this control is termed

o Watch Video Solution



https://dl.doubtnut.com/l/_Gvi6oom94Atg
https://dl.doubtnut.com/l/_r2JMNBogJmqT
https://dl.doubtnut.com/l/_GdMo6SCx5ghL

20. Biochemical reactions are regulated by

catalysts called ...

o Watch Video Solution

21. A vitamin is often associated as a ... .........

with an enzyme

o Watch Video Solution



https://dl.doubtnut.com/l/_GdMo6SCx5ghL
https://dl.doubtnut.com/l/_MvKO7ov0cuxh

22. The molecules on which enzymes act are

known as ...........

o Watch Video Solution

23. Enzymes which breakdown compounds

without the involvement of water are called

o Watch Video Solution



https://dl.doubtnut.com/l/_gaKAyetSmpxJ
https://dl.doubtnut.com/l/_PnRJs4erAebV

24. A compound with almost similar structure

to the substrate can act as a .............

o Watch Video Solution

25. The functions of enzymes is to lower the

..................... of biochemical reactions.

o Watch Video Solution



https://dl.doubtnut.com/l/_YqiQAqRDMRsQ
https://dl.doubtnut.com/l/_cS7fH4uU0ItN

26. The enzymatic activity stops due to
...................... of enzymes at very high

temperature

o Watch Video Solution

27. The enzyme ... catalyses the
formation of glucose-6-phosphate from

glucose and ATP.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZxfOZF8B5zlN
https://dl.doubtnut.com/l/_vbfeKzcVNv44
https://dl.doubtnut.com/l/_3kgVLqHBDauB

28. ... catalyse covalent bonding between

two molecules to form a large molecule.

o Watch Video Solution

Quick Memory Test Choose The Correct

Alternative

1. Lyases/Ligases perform breakdown reacting

° Watch Video Solution



https://dl.doubtnut.com/l/_3kgVLqHBDauB
https://dl.doubtnut.com/l/_3iGNCb6OlNw7

2. Apoenzyme/coenzyme is the non-protein

part of conjugate enzyme.

o Watch Video Solution

3. Nucleoside is basic/acidic in reaction.

o Watch Video Solution

4. Proenzymes are active/inactive enzyme

precursors.



https://dl.doubtnut.com/l/_n9jReQAJZNo0
https://dl.doubtnut.com/l/_NHVAJ3QyYypA
https://dl.doubtnut.com/l/_JcIPeOAWYsrX

o Watch Video Solution

5. Glutelins/Prolamins are soluble in dilute

alkali or acid.

o Watch Video Solution

6. Active site in induced fit theory s

static/dynamic.

o Watch Video Solution



https://dl.doubtnut.com/l/_JcIPeOAWYsrX
https://dl.doubtnut.com/l/_nTu4DO8cfc91
https://dl.doubtnut.com/l/_LdRhnf8fvALq
https://dl.doubtnut.com/l/_VYrfDhzYsKzn

7. Source of lactose is milk/germinating seeds.

o Watch Video Solution

Revision Exercises Very Short Answer Questions

1. Which mineral deficiency auses goitre in

man?

o Watch Video Solution



https://dl.doubtnut.com/l/_VYrfDhzYsKzn
https://dl.doubtnut.com/l/_hTq68SVeSg6C

2. Name two steroid hormones.

o Watch Video Solution

3. What are steroids?

o Watch Video Solution

4. Which type of bonds are present between

the nucleotides in DNA?

o Watch Video Solution



https://dl.doubtnut.com/l/_LLXVwmbAeRHx
https://dl.doubtnut.com/l/_XP3AgftN8cO6
https://dl.doubtnut.com/l/_rNC6Jea7VWJN

5. Name three essential amino acids,

o View Text Solution

6. Which proteins help in night vision and

colour vision?

o Watch Video Solution

7. What is the basic structural unit of chitin?



https://dl.doubtnut.com/l/_rNC6Jea7VWJN
https://dl.doubtnut.com/l/_gSKFaw14b4Sb
https://dl.doubtnut.com/l/_6LwtWTjFQAx8
https://dl.doubtnut.com/l/_wUQF0wQTgIpD

o Watch Video Solution

8. Where we can find chitin?

o Watch Video Solution

9. Namne two S-containing amino acids.

o Watch Video Solution



https://dl.doubtnut.com/l/_wUQF0wQTgIpD
https://dl.doubtnut.com/l/_11SxahgAEnpT
https://dl.doubtnut.com/l/_V3tnvU1XLowD

10. Which mineral helps the enzyme

nitrogenase in nitrogen fixation?

o Watch Video Solution

11. Give two example of tranferases

o Watch Video Solution

12. Why does water behave as a dipolar ion?

o Watch Video Solution



https://dl.doubtnut.com/l/_7zEwNz2mWpgC
https://dl.doubtnut.com/l/_KXjqOoBvsK3Q
https://dl.doubtnut.com/l/_ph8c426xOsg1

13. Why does water have high boiling point?

o Watch Video Solution

14. Define Michaelis constant (km) of an

enzyme.

o Watch Video Solution

15. An example of non-competitive inhibition is



https://dl.doubtnut.com/l/_ph8c426xOsg1
https://dl.doubtnut.com/l/_9ZAl7zxonRBZ
https://dl.doubtnut.com/l/_XKKbUnT6ONL8
https://dl.doubtnut.com/l/_jC2EcAop3cVA

o Watch Video Solution

16. Which enzyme converts glucose into ethyl

alcohol?

o Watch Video Solution

17. Give the term for the energy required to

initiate a biochemical reaction.

o Watch Video Solution



https://dl.doubtnut.com/l/_jC2EcAop3cVA
https://dl.doubtnut.com/l/_yndcthynf7SK
https://dl.doubtnut.com/l/_2JRvkQW5V9kY
https://dl.doubtnut.com/l/_FeP8DeyECNdU

18. What are peptide bonds?

o Watch Video Solution

19. Write two functions of waxes.

o Watch Video Solution

20. Give technical words for acid-soluble and

acid-insoluble fractions.

o Watch Video Solution



https://dl.doubtnut.com/l/_FeP8DeyECNdU
https://dl.doubtnut.com/l/_ydWdF0rwwVqQ
https://dl.doubtnut.com/l/_Ws6wUKIXMmfk

21. Name two acidic amino acids.

o Watch Video Solution

22. Give three examples of

polysaccharides.

homo

o Watch Video Solution



https://dl.doubtnut.com/l/_Ws6wUKIXMmfk
https://dl.doubtnut.com/l/_mswfz0BckzdY
https://dl.doubtnut.com/l/_maybBl6k1WDe

23. Which organic compound is commonly

called animal starch?

o Watch Video Solution

24. Name the sugar present in RNA.

o Watch Video Solution

25. Name the nitrogen bases of DNA.

o Watch Video Solution



https://dl.doubtnut.com/l/_hQ54rcWQTWFY
https://dl.doubtnut.com/l/_X3m1fPvCmuvs
https://dl.doubtnut.com/l/_t3HNl9K4pgmj

26. What do you mean by antiparallel nature

of two chains of DNA.

o Watch Video Solution

27. Distinguish between prosthetic group and

coenzyme.

o Watch Video Solution



https://dl.doubtnut.com/l/_t3HNl9K4pgmj
https://dl.doubtnut.com/l/_IpMymuH7Ca2P
https://dl.doubtnut.com/l/_UvPiBT8bpudB

28. Name the inactive form of pepsin.

o Watch Video Solution

29. Give one example of non-competitive

inhibition.

o Watch Video Solution

30. Who coined the term enzyme for the first

time?



https://dl.doubtnut.com/l/_eLuR3c6xXQvF
https://dl.doubtnut.com/l/_5nGXZhFerp4z
https://dl.doubtnut.com/l/_olOEz8wE2jAJ

o Watch Video Solution

31. Name the components of nucleotide

o Watch Video Solution

32. What do you mean by Zwitter ionic nature

of amino acids?

o Watch Video Solution



https://dl.doubtnut.com/l/_olOEz8wE2jAJ
https://dl.doubtnut.com/l/_YCnguTwLI4WF
https://dl.doubtnut.com/l/_rVvHgPqaPiuV

33. In which ratio, C, H and O are found in the

carbohydrates?

o View Text Solution

34.Name three components of a nucleotide.

o View Text Solution

35. Give examples of proteins which help in

blood clotting at injury



https://dl.doubtnut.com/l/_YIqvPaUiqG0d
https://dl.doubtnut.com/l/_CjQi7Cw4JdVk
https://dl.doubtnut.com/l/_lPd2Q7Tt3FE3

o Watch Video Solution

36. Select the wrongly matched pair from the

following:

&2

o View Text Solution

Revision Exercises Short Answer Questions



https://dl.doubtnut.com/l/_lPd2Q7Tt3FE3
https://dl.doubtnut.com/l/_cZC5SrA8u58Y

1. List the functions of protiens and name one

protien that performs each function.

o Watch Video Solution

2. Proteins have been called 'biological

polymers'. Explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_NzvKdyc9cBoz
https://dl.doubtnut.com/l/_PIh3tjqcLkSA

3. What are monosaccharides?Give

example

one

o Watch Video Solution

4. Differentiate acidic and basic proteins

o Watch Video Solution

5.What is inulin?

o Watch Video Solution



https://dl.doubtnut.com/l/_Hb456BnHdW5b
https://dl.doubtnut.com/l/_IniPs6lUA0R2
https://dl.doubtnut.com/l/_GAlU0k5lgdnq

6. What is lignification?

o Watch Video Solution

7.What are ligases?Give example

o Watch Video Solution

8. Explain the terms holozyme and isozyme.

o Watch Video Solution



https://dl.doubtnut.com/l/_GAlU0k5lgdnq
https://dl.doubtnut.com/l/_fzOUxnPQE9O5
https://dl.doubtnut.com/l/_87wL41pFa4Tb
https://dl.doubtnut.com/l/_oSB9DibNNXMu

9. Distinguish between apoenzyme and

coenzyme.

o Watch Video Solution

10. What is coenzyme?

o Watch Video Solution



https://dl.doubtnut.com/l/_oSB9DibNNXMu
https://dl.doubtnut.com/l/_drDeCpF3M36L
https://dl.doubtnut.com/l/_XhjfKTPTmh6Z

1. Name any three groups of digestive

enzymes, their substrates and products.

° Watch Video Solution

12. Expand IUB and write about its most

significant contribution.

o Watch Video Solution

13. How ferment and enzymes differ?



https://dl.doubtnut.com/l/_cl2oCUFEJI3s
https://dl.doubtnut.com/l/_WWVV9onfRAlF
https://dl.doubtnut.com/l/_dXS9rkFqT1zh

o Watch Video Solution

14. What are semiessential amino acids?

o Watch Video Solution

15. Can a chemical reaction take place without

enzyme ? Comment .

o Watch Video Solution



https://dl.doubtnut.com/l/_dXS9rkFqT1zh
https://dl.doubtnut.com/l/_UJhfi10u5lwJ
https://dl.doubtnut.com/l/_5Ny0pNVAmKcs

16. What is a nucleotide ?

o Watch Video Solution

17. Differentiate between a nucleoside and a

nucleotide.

o Watch Video Solution

18. Which type of bords stabilize the tertiary

structure of a protein ?



https://dl.doubtnut.com/l/_SGDYVYXm0O6O
https://dl.doubtnut.com/l/_jzCjS1yIQWxH
https://dl.doubtnut.com/l/_IpOuNnlKdGFo

o Watch Video Solution

19. Define Michaelis constant (km) of an

enzyme.

o Watch Video Solution

20. Although all protiens are made of the
same amino acids, explain how your proteins

are different from those of a dog.

o Watch Video Solution



https://dl.doubtnut.com/l/_IpOuNnlKdGFo
https://dl.doubtnut.com/l/_EfkScATQgoXk
https://dl.doubtnut.com/l/_51UTwrZCKqb8

21. Distinguish between homopolysaccharides

and heteropolysaccharides.

o Watch Video Solution

22. What are oxidoreductases?

o Watch Video Solution

23. What do you mean by holoenzymes?

| & I


https://dl.doubtnut.com/l/_51UTwrZCKqb8
https://dl.doubtnut.com/l/_nDTD883Vi0ho
https://dl.doubtnut.com/l/_ky9slLF5Y51U
https://dl.doubtnut.com/l/_LIW4aeWwaRus

| ¥ Watch Video Solution |

24. Define turn over number. Give one example,

o Watch Video Solution

25. Differentiate between anabolism and

catabolism.

° Watch Video Solution



https://dl.doubtnut.com/l/_LIW4aeWwaRus
https://dl.doubtnut.com/l/_k3sujb36Ffe2
https://dl.doubtnut.com/l/_bQr8G4ciVKDd

26. Differentiate between primary and

secondary structures of proteins.

o Watch Video Solution

27. Differentiate essential and non-essential

amino acids.

o Watch Video Solution

28. What are derived fats? Give two examples.



https://dl.doubtnut.com/l/_PPz0nOxKcb7R
https://dl.doubtnut.com/l/_FcKFHBMlBJ0w
https://dl.doubtnut.com/l/_sGmSNAzd2bz2

o Watch Video Solution

29. Differentiate between primary

secondary metabolites

and

o Watch Video Solution

30. Identify the given biomolecules

&2

o View Text Solution



https://dl.doubtnut.com/l/_sGmSNAzd2bz2
https://dl.doubtnut.com/l/_mVF1HxfEXtk4
https://dl.doubtnut.com/l/_VwH7DU7nutt3
https://dl.doubtnut.com/l/_e6lJBoWEWCC7

31. Differentiate between B-DNA and Z-DNA.

o Watch Video Solution

32. What are the functions of amino acids ?

o Watch Video Solution

33. What are co factors?

o Watch Video Solution



https://dl.doubtnut.com/l/_e6lJBoWEWCC7
https://dl.doubtnut.com/l/_cCyPaYTXmQZ8
https://dl.doubtnut.com/l/_952T3pCM14Bl
https://dl.doubtnut.com/l/_MokVylXbasgI

34. What are Prosthetic Group?

o Watch Video Solution

35. Define metabolism.

o Watch Video Solution

36. What are isomerases?

o Watch Video Solution



https://dl.doubtnut.com/l/_MokVylXbasgI
https://dl.doubtnut.com/l/_huIqlmYbTeBA
https://dl.doubtnut.com/l/_f2id8mk5JgIY
https://dl.doubtnut.com/l/_IiZZCF3n8q7Z

37. What are the components of a nucleotide ?

o Watch Video Solution

38. What is peptide bond?

o Watch Video Solution

39. What are prostaglandins ?

o Watch Video Solution



https://dl.doubtnut.com/l/_IiZZCF3n8q7Z
https://dl.doubtnut.com/l/_FpHjaTx2zEWh
https://dl.doubtnut.com/l/_IQHMz52eeYvW
https://dl.doubtnut.com/l/_OHrPRRj2OmkE

40. What are Lyases?

o Watch Video Solution

41. Write notes on : (a) Steroids (b) Wax

o Watch Video Solution

42. Give the biological importance

polysaccharides.

of

o Watch Video Solution



https://dl.doubtnut.com/l/_OHrPRRj2OmkE
https://dl.doubtnut.com/l/_FIVjRnPxKftw
https://dl.doubtnut.com/l/_2UUvDByoSS39

43. Explain the composition of glycogen.

o Watch Video Solution

44, How do the substrate concentrations

affect the enzyme activity?

o Watch Video Solution



https://dl.doubtnut.com/l/_2UUvDByoSS39
https://dl.doubtnut.com/l/_Tyhji0oUcY7l
https://dl.doubtnut.com/l/_PCOOg4utlg7l

45. How does pH affects the rate of enzyme

activity?

o Watch Video Solution

Revision Exercises Long Answer Questions

1. What is Collagen?

o Watch Video Solution



https://dl.doubtnut.com/l/_QhGqPizLQHdK
https://dl.doubtnut.com/l/_J4sHrkpBYVaX

2. Mention two functions of protein in living

system

o Watch Video Solution

3. What are the purine and pyrimidine bases

present in RNA?

o Watch Video Solution

4. Define inhibition.



https://dl.doubtnut.com/l/_V0k0t5ZJ7LvB
https://dl.doubtnut.com/l/_2ZDpRI0530Oe
https://dl.doubtnut.com/l/_uwF50N1ud4wL

o Watch Video Solution

5. Define metabolism. Describe two types of

metabolism.

o Watch Video Solution

6. What are saturated and unsaturated fatty

acids?

o Watch Video Solution



https://dl.doubtnut.com/l/_uwF50N1ud4wL
https://dl.doubtnut.com/l/_v3htFDFmeaGL
https://dl.doubtnut.com/l/_WmJsG97pdFRn
https://dl.doubtnut.com/l/_B4qzWKIxmBdO

7.What are oligosaccharides?

o Watch Video Solution

8. Enlist two biological importance of amino

acids.

o Watch Video Solution

9. List two functions of lipids in a biological

system.

| & I


https://dl.doubtnut.com/l/_B4qzWKIxmBdO
https://dl.doubtnut.com/l/_czTcwE5C2ojA
https://dl.doubtnut.com/l/_wCeTCs7CY19S

| ¥ Watch Video Solution |

10. What are essential and non essential

amino acids?

o Watch Video Solution

11. Describe the components of a nucleotide.

o Watch Video Solution



https://dl.doubtnut.com/l/_wCeTCs7CY19S
https://dl.doubtnut.com/l/_OhIMFqQhfW8u
https://dl.doubtnut.com/l/_AqqYx2eHavEK

12. What are Homopolysaccharides?

o Watch Video Solution

Competition File Objective Type Questions

Multiple Choice Questions Mcqs

1. Name the elements which occur in nucleic

acid macromolecule

A.C,HO,N,S

B.C,O,N,S


https://dl.doubtnut.com/l/_O0kwbffjci8U
https://dl.doubtnut.com/l/_BXhlD1JeW1xk

c.¢o0,P,S

D.C,H,O,N,P

Answer: D

o Watch Video Solution

2. Pentoses and hexoses are the most common
Or
The simple polyhydroxy ketone molecule

containing 3-7 carbons is a


https://dl.doubtnut.com/l/_BXhlD1JeW1xk
https://dl.doubtnut.com/l/_ItXK5twQJsiz

A. Disaccharide

B. Monosaccharide

C. Polysaccharide

D. Dipeptide

Answer: B

o Watch Video Solution

3.In the double helix model of DNA , how far is

each base pair from the next base pair


https://dl.doubtnut.com/l/_ItXK5twQJsiz
https://dl.doubtnut.com/l/_F2QII2rrquqq

A. 3.4 nm

B.0.34 nm

C.2.0 nm

D.34 nm

Answer: B

° Watch Video Solution

4. Cellulose, the most important constituent

of plant cell wall is made up of


https://dl.doubtnut.com/l/_F2QII2rrquqq
https://dl.doubtnut.com/l/_gULUB8AQkyFj

A.Branched chain of glucose molecules

linked by a, 1,6, glycosidic bond at the

site of branching

B. Unbranched chain of glucose molecules

linked by a, 1, 4, glycosidic bond

C.Branched chain of glucose molecules

linked by (3, 14 glycosidic bond in

straight chain and a, 1,6 glycosidic bond

at the site of branching


https://dl.doubtnut.com/l/_gULUB8AQkyFj

D. Unbranched chain of glucose molecules

linked by 3, 1, 4 glycosidic bord

Answer: D

o Watch Video Solution

5. Feedback inhibition of an enzymatic

reaction is caused by

A. Substrate

B. Enzyme


https://dl.doubtnut.com/l/_gULUB8AQkyFj
https://dl.doubtnut.com/l/_gMY7vtra1aip

C. End product

D. Rise in temperature

Answer: C

o Watch Video Solution

6. Coenzymes :

(1) Act as a donor of groups of atoms added to
the substrate

(2) Act as acceptor of groups of atom removed

from substrate


https://dl.doubtnut.com/l/_gMY7vtra1aip
https://dl.doubtnut.com/l/_lWli9vUKtbAw

(3) Cannot be easily separated from

apoenzyme

(4) Do not act as prosthetic groups Codes:

A.1,2 and 3 correct

B.1and 2 correct

C.2 and 4 are correct

D.1and 3 are correct

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_lWli9vUKtbAw
https://dl.doubtnut.com/l/_pDOE0cFHNo3L

7. A substance unrelated to substrate

reversibly changes the activity of an enzyme. It

IS

A. Competitive inhibitor

B. Non-competitive inhibitor

C. Catalytic inhibitor

D. Allosteric modulator/inhibitor

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_pDOE0cFHNo3L
https://dl.doubtnut.com/l/_AZbgqR1KjqFO

8. The protein part of enzyme is known as

Or

The enzyme which combines with non-protein

part to form a functional enzyme known as

A. Co-enzyme

B. Holoenzyme

C. Apoenzyme

D. Prosthetic group

Answer: C

’ o Watch Video Solution


https://dl.doubtnut.com/l/_AZbgqR1KjqFO

9. A complex polysaccharide produced from

sucrose by the bacterium Leuconostoc

mesenteroides is

A. Chitin

B. Starch

C. Cellulose

D. Dextran

Answer: D

| €8


https://dl.doubtnut.com/l/_AZbgqR1KjqFO
https://dl.doubtnut.com/l/_l8qQ2TsLA68z

| ¥ Watch Video Solution J

10. Which of the following enzyme is used in

making detergent?

A. Amylase

B. Cellulase

C. Protease

D. Peptidase

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_l8qQ2TsLA68z
https://dl.doubtnut.com/l/_inaGUn4GuyEi

11. Enzyme found functional in lysosome is :

A. Acid phosphatase

B. Basic phosphatase

C. Oxidoreductase

D. Lyases

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_inaGUn4GuyEi
https://dl.doubtnut.com/l/_E89Ue9YL8hFk
https://dl.doubtnut.com/l/_ppdSYCRf4WVn

12. Enzymes, vitamins and hormones can be

classified into a single category of biological

chemicals, because all of these

A. Enhance oxidative metabolism

B. Are conjugated proteins

C. Are exclusively synthesized in the body

of a living organism at present

D. Help in regulating metabolism

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ppdSYCRf4WVn

13. Crabohydrates, the most abundant

biomlecles on earth, are produced by

A. All bacteria, fungi and algae

B. Fungi, algae and green plant cells

C.Some bacteria, algae and green plant

cells

D. Viruses, fungi and bacteria

Answer: C

I o Watch Video Solution


https://dl.doubtnut.com/l/_ppdSYCRf4WVn
https://dl.doubtnut.com/l/_hoxybHxwBQRH

14. A competitive inhibitor of succinic

dehydrogenase is

A. a- ketoglutarate

B. Malate

C. Malonate

D. Oxaloacetate

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_hoxybHxwBQRH
https://dl.doubtnut.com/l/_fehm2bARdEn7

15. Which one of the following pairs of
nitrogenous bases of nucleic acids, is wrongly
matched with the category mentioned against
it

A. Guanine, Adenine - Purines

B. Adenine, Thymine - Purines

C. Thymine, Uracil - Pyrimidines

D. Uracil, Cytosine - Pyrimidines

Answer: A


https://dl.doubtnut.com/l/_fehm2bARdEn7
https://dl.doubtnut.com/l/_ktnHC1rs7ehb

o Watch Video Solution

16. In the DNA molecule

A. The proportion of Adenine in relation to
Thymine varies with the organism

B.There are two strands which run
antiparallel - one in 5" — 3’ direction
and otheris 3" — 5’

C. Total amount of purine nucleotides and

pyrimidine nucleotides is not always


https://dl.doubtnut.com/l/_ktnHC1rs7ehb
https://dl.doubtnut.com/l/_FI1HqPUTEO9k

equal

D. There are two strands which run parallel

inthe b’ — 3’ direction

Answer: A

o Watch Video Solution

17. Carbohydrates are commonly found as
starch in plant storage organs. Which of the
following five properties of starch (A-E) make it

useful as a storage material


https://dl.doubtnut.com/l/_FI1HqPUTEO9k
https://dl.doubtnut.com/l/_pJGRzEJ7pYGH

(A) Easily translocated
(B) Chemically non-reactive
(C) Easily digested by animals
(D) Osmotically inactive
(E) Synthesized during photosynthesis
The useful proeprties ar:
A.1,3and5
B.1and 5

C.2and 3

D.2 and 4

Answer: D


https://dl.doubtnut.com/l/_pJGRzEJ7pYGH

° Watch Video Solution

18. Which of the following is not caused by

deficiency of mineral ?

A. Chlorosis

B. Etiolation

C. Shortening of internodes

D. Necrosis

Answer: D

| 8 l


https://dl.doubtnut.com/l/_pJGRzEJ7pYGH
https://dl.doubtnut.com/l/_HEIHB2lh3peV

19. Select the correct answer from the
following statements :

1. Cutin is fatty acid polymer

2. Starch is glucose polymer

3. Sucrose is monosaccharide

4. maltose is polymer of fructose.

A.1,2,3 are correct

B.1, 2 are correct

C.2 and 4 are correct


https://dl.doubtnut.com/l/_HEIHB2lh3peV
https://dl.doubtnut.com/l/_gJprHHedIm1u

D.1and 3 are correct

Answer: C

° Watch Video Solution

20. Select the correct answer from the
following, DNA can be
1. A-DNA 2. B-DNA

3.Z-DNA 4.Y-DNA.

A.1,2,3 are correct


https://dl.doubtnut.com/l/_gJprHHedIm1u
https://dl.doubtnut.com/l/_npKZO6n0eGJD

B.1and 2 correct

C.2 and 4 are correct

D.1and 3 are correct

Answer: D

o Watch Video Solution

21. Which of the following statements is/are
not true
(A) Glycerol is a 3 carbon alcohol with 3 OH

groups that


https://dl.doubtnut.com/l/_npKZO6n0eGJD
https://dl.doubtnut.com/l/_bFwXNyf9DgET

(B) Waxes are esters formed between a long
chain alcohol and saturated fatty acids

(C) The term protein was coined by Gerardus
Johannes Mulder

(D) Agar is an indispensable polysaccharide
and it is a complex polymer of glucose and

sulphur-containing carbohydrates

A.Aand Conly

B.Aand D only

C.A,Band D only

D.A,Cand D only


https://dl.doubtnut.com/l/_bFwXNyf9DgET

Answer: D

o Watch Video Solution

22. An example of feedback inhibition is

A. Cyanide action on cytochromes

B. Sulpha drug on folic acid synthesizing

bacteria

C. Allosteric inhibition of hexokinase by

Glucose-6-P


https://dl.doubtnut.com/l/_bFwXNyf9DgET
https://dl.doubtnut.com/l/_3HP2kN4luQds

D. Reaction between succinate and succinic

dehydrogenase

Answer: B

o Watch Video Solution

23. The haploid content of human DNA is

A.3.3 x 10° bp
B.3.3 x 10” kbp

C.4.6 x 10° bp


https://dl.doubtnut.com/l/_3HP2kN4luQds
https://dl.doubtnut.com/l/_vOw4oyHfsVea

D. 48502 bp

Answer: D

° Watch Video Solution

24. Which is an organic compound found in
most cells

Or

Most common monomer of carbohydrate is

Or

The "repeating unit" of glycogen is


https://dl.doubtnut.com/l/_vOw4oyHfsVea
https://dl.doubtnut.com/l/_VYVh9XatVkRj

A. Glucose

B. Fructose

C. Sucrose

D. Maltose

Answer: B

o Watch Video Solution

25. Which one of the following is ss RNA ?

A. TMV


https://dl.doubtnut.com/l/_VYVh9XatVkRj
https://dl.doubtnut.com/l/_YvYc4U4mZjrC

B. T5- bacteriophage

C. Pox virus

D.¢ x 174

Answer: C

o Watch Video Solution

26. Uracil is present in RNA at the place of :

A. Adenine

B. Guanine


https://dl.doubtnut.com/l/_YvYc4U4mZjrC
https://dl.doubtnut.com/l/_4GTovI5B2gg1

C. Cytosine

D. Thymine

Answer: A

° Watch Video Solution

27.The enzyme that cuts DNAis :

A. DNA -polymerase

B. DNA-lyase

C. DNA- ligase


https://dl.doubtnut.com/l/_4GTovI5B2gg1
https://dl.doubtnut.com/l/_dA3OEgDR2Xpo

D. Restriction endonuclease

Answer: A

° Watch Video Solution

28. Which of the following be named for DNA

produced from RNA ?

A. A-DNA

B. B-DNA

C. C-DNA


https://dl.doubtnut.com/l/_dA3OEgDR2Xpo
https://dl.doubtnut.com/l/_7rU80nxzkivg

D.Z-DNA

Answer: D

° Watch Video Solution

29. Quarternary structure of protein

A. Consists of four subunits

B. May be either o or S-helix

C.Is untrelated to the function of protein


https://dl.doubtnut.com/l/_7rU80nxzkivg
https://dl.doubtnut.com/l/_lhc7QHLCjAMo

D.Is dictated by the primary structure of

the subunits

Answer: C

° Watch Video Solution

30. Identify the sulphur-containing amino

acid?

A. Proline

B. Methionine


https://dl.doubtnut.com/l/_lhc7QHLCjAMo
https://dl.doubtnut.com/l/_hspIed9n9jxa

C. Aspartic acid

D. Tryptophan

Answer: B

° Watch Video Solution

31. Which of the following carbohydrates is

not a disaccharide

A. Maltose

B. Lactose


https://dl.doubtnut.com/l/_hspIed9n9jxa
https://dl.doubtnut.com/l/_7GcXIY3fiD4K

C. Sucrose

D. Galactose

Answer: D

o Watch Video Solution

32. Enzymes that catalyse inter-conversion of

optical, geometrical or positional isomers are

A. Ligases

B. Lyases


https://dl.doubtnut.com/l/_7GcXIY3fiD4K
https://dl.doubtnut.com/l/_GO56rwYhV89C

C. Hydrolases

D. Isomerases

Answer: D

o Watch Video Solution

33.The "lock and key" model of enzyme action

illustrates that a particular enzyme molecule

A.May be destroyed or resynthesised

several times


https://dl.doubtnut.com/l/_GO56rwYhV89C
https://dl.doubtnut.com/l/_rXBy5cz8CfCR

B.Interacts with a specific type of

substrate molecule

C.Reacts at identical rates under all

conditions

D.Forms a permanent enzyme substrate

complex

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_rXBy5cz8CfCR

34. The effectiveness of an enzyme is affected

least by

A. Temperature

B. Concentration of substrate

C. Original activation energy of the system

D. Concentration of the enzyme

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_DMRqGUmLLMa2
https://dl.doubtnut.com/l/_slDASmtkMCih

35. Starch is a polymer of

A. Glucose

B. Fructose

C. Sucrose

D. Maltose

Answer: A

° Watch Video Solution

36. Table sugar is


https://dl.doubtnut.com/l/_slDASmtkMCih
https://dl.doubtnut.com/l/_CWXDJ17r3AbD

A. Sucrose

B. Glucose

C. Fructose

D. Lactose

Answer: A

o Watch Video Solution

37. Human proteins can be produced in the

milk or semen of farm animals. True of false?


https://dl.doubtnut.com/l/_CWXDJ17r3AbD
https://dl.doubtnut.com/l/_KShPjtEttkg8

A. True

B. False , proteins cannot be produced in

milk

C. False , proteins cannot be produced in

semen

D. False, animals are not used for protein

production

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_KShPjtEttkg8
https://dl.doubtnut.com/l/_zjwNVmhHACX3

- 1 J Is a globular protein of ~ 6 kDa

consisting of 51 amino acids, arranged in 2

polypeptide chains held together by

disulphide bridge

A. Insulin

B. Keratin

C. Glucagon

D. Fibrinogen

Answer: A

’ o Watch Video Solution


https://dl.doubtnut.com/l/_zjwNVmhHACX3

39. Select the option which is not correct with

respect to enzyme action

A.A non-competitive inhibitor binds

enzyme at a site distinct from that which

binds the substrate

B. Malonate is a competitive inhibitor of

succinic dehydrogenase

C. Substrate binds with enzyme at its active

site


https://dl.doubtnut.com/l/_zjwNVmhHACX3
https://dl.doubtnut.com/l/_vwUXzENRjEyo

D. Addition of lot of succinate does not

reverse the inhibition of sucdnic

dehydrogenase by malonate

Answer: D

o Watch Video Solution

40. Which one of the following statements is

not correct?

A. Retinal is a derivative of vitamin C


https://dl.doubtnut.com/l/_vwUXzENRjEyo
https://dl.doubtnut.com/l/_V4SfEH8zXHSi

B.Rhodopsin is a purplish red protein

present in rods only

C. Retinal is the light absorbing protein of

visual photopigment

D.In retina, the rods have the

photopigment rhodopsin, while cones

have three different photopigments

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_V4SfEH8zXHSi
https://dl.doubtnut.com/l/_aJJPU4VFCf0J

41. Which one of the following is a non-

reducing carbohydrate?

A. Lactose

B. Ribose-5-phosphate

C. Maltose

D. Sucrose

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_aJJPU4VFCf0J
https://dl.doubtnut.com/l/_lnxifh23nUup

42. The catalytic efficiency of two different

enzymes can be compared by the

A. Molecular size of the enzymes

B. pH optimum values

C. K, values

D. Formation of the product

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_lnxifh23nUup

43. Which of the following is correct pair of

pyrimidine bases

A. Adenine and thymine

B. Adenine and guanine

C. Thymnine and cytosine

D. Guanine and cytosine

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_wpwbDze0Ukw9
https://dl.doubtnut.com/l/_FVpo3KHlbWpj

44. This is wax

A. Palmitic acid

B. Ethyl Palmitata

C. Hexacosyl palmitate

D. Sodium stearate

Answer: C

° Watch Video Solution

45. A tripeptide contains


https://dl.doubtnut.com/l/_FVpo3KHlbWpj
https://dl.doubtnut.com/l/_Xl2Kd9gSk4kA

A. 3 amino acids

B. 4 amino acids

C. 6 amino acids

D. 2 amino acids

Answer: A

o Watch Video Solution

46. How many phosphodiester bonds are there

in ATP


https://dl.doubtnut.com/l/_Xl2Kd9gSk4kA
https://dl.doubtnut.com/l/_eqBw1kuRfECd

A3

B.2

C.1

D.O

Answer: D

o Watch Video Solution

47. Which of the following biomolecules does

have a phosphodiester bond?


https://dl.doubtnut.com/l/_eqBw1kuRfECd
https://dl.doubtnut.com/l/_Q7MJsPrwS0QA

A. Amino acids in a polypeptide

B. Nucleic acids in a nucleotides

C. Fatty acids in a diglyceride

D. Monosaccharides in a polysaccharides

Answer: B

o Watch Video Solution

48. Which of the following biomolecules is
common to respiration-mediated breakdown

of fats, carbohydrates and proteins


https://dl.doubtnut.com/l/_Q7MJsPrwS0QA
https://dl.doubtnut.com/l/_f8Pn1I6mzC7j

A. Pyruvic acid

B. Acetyl CoA

C. Glucose-6-6 phosphates

D. Fructose 1, 6-bisphosphate

Answer: B

o Watch Video Solution

49, A typical fat molecule is made up of


https://dl.doubtnut.com/l/_f8Pn1I6mzC7j
https://dl.doubtnut.com/l/_FtTCw89TvbUD

A.Three glycerol molecules and one fatty

acid molecule

B.One glycerol and three fatty acid

molecules

C. One glycerol and one fatty acid molecule

D.Three glycerol and three fatty acid

molecules

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_FtTCw89TvbUD
https://dl.doubtnut.com/l/_9SBKZK9HZzab

50. The two functional groups characteristic of

sugars are

A. Carbonyl and methyl

B. Carbonyl and phosphate

C. Hydroxyl and methyl

D. Carbonyl and hydroxyl

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_9SBKZK9HZzab

Competition File Objective Type Questions Cbse

Pmt Main Examination Questions

1. () Name three unusual bases present in
tRNA and name the bases from which these
are developed.

(i) Name 3 nucleotides which are not
constituent of DNA/RNA but take part in
metabolic activities. Also name their bases.

(i) Name the achiral amino acid, symmetric

with no side chain.


https://dl.doubtnut.com/l/_enldCWlnOMNn

(iv) Name five amino acid with non-polar side

chains.

o View Text Solution

2. Refer the graph of two enzymatic reactions
and answer the following questions :

(a) What is denoted by plot A?

(b) What is denoted by plot B?

(c) What is C? What is the difference between

Cof A&B.


https://dl.doubtnut.com/l/_enldCWlnOMNn
https://dl.doubtnut.com/l/_HK88GTzFtacM

(d) What is allosteric modulation?

|

L

° View Text Solution

3. Fill in the blanks :

(i) Biomembrane consists of phospholipids
which has one unit of ... and two units of
............... and phosphate group

(i) Enzymes are globular ... and has clefts on
their surface called ........

(iii) Most food stored in the higher plants is in


https://dl.doubtnut.com/l/_HK88GTzFtacM
https://dl.doubtnut.com/l/_MGgwOzgkCapB

the form of ..., but cell wall is made up

° Watch Video Solution

4. What is ribozyme? Who discovered it and in

which organism?

o View Text Solution

5. Fill in the blanks :

The activity of enzyme inhibited when


https://dl.doubtnut.com/l/_MGgwOzgkCapB
https://dl.doubtnut.com/l/_GyO0HH8Zct0z
https://dl.doubtnut.com/l/_n7eQUTbsPzU6

modulators bind to it is known as ........

inhibition.

° Watch Video Solution

Competition File Objective Type Questions

Assertion Type Questions

1. Assertion : Glycerides are neutral or true
fats.
Reason: These are esters of fatty acids with

glycerol,


https://dl.doubtnut.com/l/_n7eQUTbsPzU6
https://dl.doubtnut.com/l/_o9bPkLD85tqB

A. If both Assertion and Reason are true

and the Reason is a correct explanation

of the Assertion.

B.If both Assertion and Reason are true

but Reason is not a correct explanation

of the Assertion.

C.If Assertion is true but the Reason is

false.

D. If both Assertion and Reason are false.

Answer: A


https://dl.doubtnut.com/l/_o9bPkLD85tqB

° View Text Solution

2. Assertion : Proteins are linear polymers of
long chains made up of amino acids.

Reason: Amino acids are called building blocks
of proteins.
A.If both Assertion and Reason are true

and the Reason is a correct explanation

of the Assertion.


https://dl.doubtnut.com/l/_o9bPkLD85tqB
https://dl.doubtnut.com/l/_FwxeR70lQqRV

B.If both Assertion and Reason are true

but Reason is not a correct explanation

of the Assertion.

C.If Assertion is true but the Reason is

false.

D. If both Assertion and Reason are false.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_FwxeR70lQqRV

3. Assertion : Cephalins are amino acids and

on hydrolysis give ammonia and water.

Reason: Cephalins are hydrolysed with Hy SO,

and HNO:s.

A.If both Assertion and Reason are true

and the Reason is a correct explanation

of the Assertion.

B.If both Assertion and Reason are true

but Reason is not a correct explanation

of the Assertion.


https://dl.doubtnut.com/l/_ucR8zFqNE1dB

C.If Assertion is true but the Reason is

false.

D. If both Assertion and Reason are false.

Answer: D

o View Text Solution

4. Assertion: All enzymes are amino acids.
Reason: Proteins are formed of carboxylic

acids.


https://dl.doubtnut.com/l/_ucR8zFqNE1dB
https://dl.doubtnut.com/l/_aGsEEuJAz2xc

A.If both Assertion and Reason are true

and the Reason is a correct explanation

of the Assertion.

B.If both Assertion and Reason are true

but Reason is not a correct explanation

of the Assertion.

C.If Assertion is true but the Reason is

false.

D. If both Assertion and Reason are false.

Answer: D


https://dl.doubtnut.com/l/_aGsEEuJAz2xc

° View Text Solution

5. Assertion : LDH has five isoenzymes while a-
amylase has sixteen isoenzymes.
Reason: Isoenzymes perform same function
but occur in more than one form.

A.If both Assertion and Reason are true

and the Reason is a correct explanation

of the Assertion.


https://dl.doubtnut.com/l/_aGsEEuJAz2xc
https://dl.doubtnut.com/l/_JYbUhDZ9kbCF

B.If both Assertion and Reason are true

but Reason is not a correct explanation

of the Assertion.

C.If Assertion is true but the Reason is

false.

D. If both Assertion and Reason are false.

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_JYbUhDZ9kbCF

6. Assertion : Enzymes are organic catalysts.

Reason : They catalyze the chemical reactions .

A.If both Assertion and Reason are true

and the Reason is a correct explanation

of the Assertion.

B.If both Assertion and Reason are true

but Reason is not a correct explanation

of the Assertion.


https://dl.doubtnut.com/l/_cfXOuVeJCKu7

C.If Assertion is true but the Reason is

false.

D. If both Assertion and Reason are false.

Answer: C

o Watch Video Solution

7. Assertion : Oxidoreductases catalyze redox
reactions .
Reason : Isomerases catalyze the isomeric

changes.


https://dl.doubtnut.com/l/_cfXOuVeJCKu7
https://dl.doubtnut.com/l/_0PqNudcvWvx1

A.If both Assertion and Reason are true

and the Reason is a correct explanation

of the Assertion.

B.If both Assertion and Reason are true

but Reason is not a correct explanation

of the Assertion.

C.If Assertion is true but the Reason is

false.

D. If both Assertion and Reason are false.

Answer: B


https://dl.doubtnut.com/l/_0PqNudcvWvx1

o Watch Video Solution

8. Assertion : Intake of excess of saturated fats

should be avoided.

Reason : Saturated fats change into

cholesterol which causes arteriosclerosis.

A.If both Assertion and Reason are true

and the Reason is a correct explanation

of the Assertion.


https://dl.doubtnut.com/l/_0PqNudcvWvx1
https://dl.doubtnut.com/l/_6JncqMcnmFA4

B.If both Assertion and Reason are true

but Reason is not a correct explanation

of the Assertion.

C.If Assertion is true but the Reason is

false.

D. If both Assertion and Reason are false.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_6JncqMcnmFA4

9. Assertion : Oils have lower melting point .

Reason : Oils mostly contain saturated fatty

acids.

A. If both Assertion and Reason are true

and the Reason is a correct explanation

of the Assertion.

B.If both Assertion and Reason are true

but Reason is not a correct explanation

of the Assertion.


https://dl.doubtnut.com/l/_VxzN6lm9snbG

C.If Assertion is true but the Reason is

false.

D. If both Assertion and Reason are false.

Answer: C

o View Text Solution

10. Assertion : Chitin is a heteropolysaccharide

Reason : Chitin is a polymer of N-acetyl

Glucosamine.


https://dl.doubtnut.com/l/_VxzN6lm9snbG
https://dl.doubtnut.com/l/_UStHaeQshwSW

A.If both Assertion and Reason are true

and the Reason is a correct explanation

of the Assertion.

B.If both Assertion and Reason are true

but Reason is not a correct explanation

of the Assertion.

C.If Assertion is true but the Reason is

false.

D. If both Assertion and Reason are false.

Answer: A


https://dl.doubtnut.com/l/_UStHaeQshwSW

° Watch Video Solution

11. Assertion : Very low temperature causes
permanent denaturation of enzymes.
Reason : Very low temperature breaks the

disulphide bonds of enzymes.

A.If both Assertion and Reason are true

and the Reason is a correct explanation

of the Assertion.


https://dl.doubtnut.com/l/_UStHaeQshwSW
https://dl.doubtnut.com/l/_vP6Fb0E50PNn

B.If both Assertion and Reason are true

but Reason is not a correct explanation

of the Assertion.

C.If Assertion is true but the Reason is

false.

D. If both Assertion and Reason are false.

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_vP6Fb0E50PNn

12. Assertion : Phospholipids are called

amphipathic compounds .

Reason : Each phospholipids is doubly charged

compound .

A.If both Assertion and Reason are true

and the Reason is a correct explanation

of the Assertion.

B.If both Assertion and Reason are true

but Reason is not a correct explanation

of the Assertion.


https://dl.doubtnut.com/l/_SvUJrWHfJ0il

C.If Assertion is true but the Reason is

false.

D. If both Assertion and Reason are false.

Answer: C

o Watch Video Solution

13. Assertion : The higher the turn-over
number the more efficient an enzyme is.
Reason : It is not dependent upon the number

of active sites present over an enzyme.


https://dl.doubtnut.com/l/_SvUJrWHfJ0il
https://dl.doubtnut.com/l/_Vhwe3ueyT8hh

A.If both Assertion and Reason are true

and the Reason is a correct explanation

of the Assertion.

B.If both Assertion and Reason are true

but Reason is not a correct explanation

of the Assertion.

C.If Assertion is true but the Reason is

false.

D. If both Assertion and Reason are false.

Answer: A


https://dl.doubtnut.com/l/_Vhwe3ueyT8hh

o Watch Video Solution

14. Assertion. Nucleotides are the building

blocks of nucleic acid.

Reason. Nucleotides are also components of

energy carriers and coenzymes.

A.If both Assertion and Reason are true

and the Reason is a correct explanation

of the Assertion.


https://dl.doubtnut.com/l/_Vhwe3ueyT8hh
https://dl.doubtnut.com/l/_dkDpttYu34gp

B.If both Assertion and Reason are true

but Reason is not a correct explanation

of the Assertion.

C.If Assertion is true but the Reason is

false.

D. If both Assertion and Reason are false.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_dkDpttYu34gp

15. Assertion. Coenzyme is a nonprotein group
without which certain enzymes are inactive or
incomplete.

Reason. Coenzymes not only provide a point of
attachement to the chemical group being
transferred but also influence the properties

of the group.

A. If both Assertion and Reason are true

and the Reason is a correct explanation

of the Assertion.


https://dl.doubtnut.com/l/_AY6w4J0cD3vW

B.If both Assertion and Reason are true

but Reason is not a correct explanation

of the Assertion.

C.If Assertion is true but the Reason is

false.

D. If both Assertion and Reason are false.

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_AY6w4J0cD3vW

16. Assertion. Carboxypeptidase is an

exopeptidase.

Reason. It cleaves the N-terminal bond.

A. If both Assertion and Reason are true

and the Reason is a correct explanation

of the Assertion.

B.If both Assertion and Reason are true

but Reason is not a correct explanation

of the Assertion.


https://dl.doubtnut.com/l/_luis9XjQGzR7

C.If Assertion is true but the Reason is

false.

D. If both Assertion and Reason are false.

Answer: C

o Watch Video Solution

17. Assertion. A coenzyme or metal ion that is
very tightly bound to enzyme protein called
prosthetic group.

Reason. A complete, catalytically active enzyme


https://dl.doubtnut.com/l/_luis9XjQGzR7
https://dl.doubtnut.com/l/_BVZGLEy3rRdy

together with its bound prosthetic group is

called apoenzyme.

A. If both Assertion and Reason are true

and the Reason is a correct explanation

of the Assertion.

B.If both Assertion and Reason are true

but Reason is not a correct explanation

of the Assertion.

C.If Assertion is true but the Reason is

false.


https://dl.doubtnut.com/l/_BVZGLEy3rRdy

D. If both Assertion and Reason are false.

Answer: C

o Watch Video Solution

Competition File Objective Type Questions

Reasoning Type Questions

1. Nucleotides are acidic in nature.

° Watch Video Solution



https://dl.doubtnut.com/l/_BVZGLEy3rRdy
https://dl.doubtnut.com/l/_F9hm7mkMtsi8
https://dl.doubtnut.com/l/_NBlUrXVHu45e

2. GC pair of DNA is more stable than AT pair.

° Watch Video Solution

3. At high temperature, the enzymes stop

functioning

o Watch Video Solution

4. Cholesterol and its esters are deposited in

the arteries.

| N I


https://dl.doubtnut.com/l/_NBlUrXVHu45e
https://dl.doubtnut.com/l/_mlybYba15mmd
https://dl.doubtnut.com/l/_AeXe0li3TWCd

| ¥ Watch Video Solution |

5.1n human beings some essential amino acids

are required.

o Watch Video Solution

6. The high boiling point of water is

advantageous to living organisms.

° Watch Video Solution



https://dl.doubtnut.com/l/_AeXe0li3TWCd
https://dl.doubtnut.com/l/_B7meUGa20JPa
https://dl.doubtnut.com/l/_tKY5Jyti83ow
https://dl.doubtnut.com/l/_fjm0zTDqg3gB

7. Apoenzyme alone cannot function.

° Watch Video Solution

8. Co-enzyme can function in association with

an apoenzyme.

o Watch Video Solution

9. End products are generally not produced

more than their requirements .

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_fjm0zTDqg3gB
https://dl.doubtnut.com/l/_3Wt9Osh7UvFI
https://dl.doubtnut.com/l/_k4cYsQ888Pje

10. Enzymes generally have different pH but

same temperature optima.

o Watch Video Solution

Competition File Objective Type Questions

Analogy Type Questions

1.amino acid : protein :: nucleotides : ...

° Watch Video Solution



https://dl.doubtnut.com/l/_k4cYsQ888Pje
https://dl.doubtnut.com/l/_bi9VRw61TLiA
https://dl.doubtnut.com/l/_cj2VgLzYEJlM

2. plants : starch :: mammals : ............

O Watch Video Solution

3. a-helix : protein :: double helix : ...

o Watch Video Solution

4. protein : peptide bonds :: polysaccharide :



https://dl.doubtnut.com/l/_cj2VgLzYEJlM
https://dl.doubtnut.com/l/_sr2HOJvdOLkr
https://dl.doubtnut.com/l/_0SVIJgMEpBLz
https://dl.doubtnut.com/l/_mvyPOeU5vvb2

| ' Watch Video Solution

5. microbiomolecules : filtrate

macrobiomolecules : ................

O Watch Video Solution

6. anabolism : photosynthesis :: catabolism :

o Watch Video Solution



https://dl.doubtnut.com/l/_mvyPOeU5vvb2
https://dl.doubtnut.com/l/_RfhpEfcnCG96
https://dl.doubtnut.com/l/_oAFe4RdAP5Pr
https://dl.doubtnut.com/l/_xnPxybiA3HaK

7. primary metabolite : amino acids

secondary metabolite : .............

o Watch Video Solution

8. hexokinase : transferase : : amylase : .............

o Watch Video Solution

9. a-helix : secondary structure : : enzymes :

I o Watch Video Solution


https://dl.doubtnut.com/l/_xnPxybiA3HaK
https://dl.doubtnut.com/l/_yeYLlhYbP7Ed
https://dl.doubtnut.com/l/_oCrMrjiltkTy

10. purine : guanine : : pyrimidine : .............

o Watch Video Solution

Competition File Objective Type Questions

Additional Multiple Choice Questions

1. Which is protein in nature ?

A. Cellulose


https://dl.doubtnut.com/l/_oCrMrjiltkTy
https://dl.doubtnut.com/l/_FT1i2C04RaTb
https://dl.doubtnut.com/l/_phBAQlinSuRK

B. Terylene

C. Polythene

D. Silk and wool

Answer: D

o View Text Solution

2. Which is a reducing sugar ?

A. Cellulose

B. Maltose


https://dl.doubtnut.com/l/_phBAQlinSuRK
https://dl.doubtnut.com/l/_44rYQI4fVMMm

C. Sucrose

D. Starch

Answer: B

° Watch Video Solution

3. Among following natural materials , largest

amount of cellulose is found in :

A. Wood

B. Fruit pulp


https://dl.doubtnut.com/l/_44rYQI4fVMMm
https://dl.doubtnut.com/l/_eswn7BV9a6nx

C. Wheat straw

D. Cotton fibres

Answer: D

° View Text Solution

4. The polysaccharide formed from fructose

monomers only is :

A. Insulin

B. Lignin


https://dl.doubtnut.com/l/_eswn7BV9a6nx
https://dl.doubtnut.com/l/_BIvOV3OeyoRd

C. Cellulose

D. Amylose

Answer: A

o Watch Video Solution

5. An organic substance bound to an enzyme

and essential for its activity is called

A. Coenzyme

B. Holoenzyme


https://dl.doubtnut.com/l/_BIvOV3OeyoRd
https://dl.doubtnut.com/l/_Jpu5VmJM41So

C. Apoenzyme

D. Isoenzyme

Answer: A

° Watch Video Solution

6. One turn of the helix in a B-form DNA is

approximately-

A.20 nm

B.0.34 nm


https://dl.doubtnut.com/l/_Jpu5VmJM41So
https://dl.doubtnut.com/l/_vw0vWhjNiDyr

C.3.4 nm

D.2nm

Answer: C

o Watch Video Solution

7. Antiparallel strands of a DNA molecule

means that :

A. One strand turns anti-clockwise

B. One strand turns anti-clockwise


https://dl.doubtnut.com/l/_vw0vWhjNiDyr
https://dl.doubtnut.com/l/_Rh1LhGvImq4M

C. Phosphate groups of two DNA strands at

their ends , share the same position

D. Phosphate groups at the start of two

DNA strands (poles) are in opposite

position

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Rh1LhGvImq4M

8. In which one of the following sets of three

items each belong to the category mentioned

against them ?

A. Lysine, glycine , thiamine - amino acids

B. Myosin , oxytocin and gastrin -

hormones

C.Rennin , helicase and hyaluronidase-

enzymes

D. Optic , occulomotor , vagus - sensory

nerves


https://dl.doubtnut.com/l/_1TsVIs2lFcMM

Answer: C

o Watch Video Solution

9. The figure given below shows three velocity -
substrate concentration curves for an enzyme

reaction . What do the curves a, b and c depict


https://dl.doubtnut.com/l/_1TsVIs2lFcMM
https://dl.doubtnut.com/l/_HcCkX5G36yjx

respectively .

Initial velocity V, ———»

Substrate concentration [S] ——»

A. (1) normal enzyme reaction,

(i) competitive inhibition

(ili) non-competitive inhibition

B. (i) enzyme with an allosteric modulator

added .


https://dl.doubtnut.com/l/_HcCkX5G36yjx

(i) normal enzymes activity,

(il)) competitive inhibition

C. (i) enzyme with an allosteric stimulator,

(i) competitive inhibitor added,

(i) normal enzyme reaction

D. (i) normal enzyme reaction ,

(i) non-competitive inhibitor added ,

(iii) allosteric inhibitor added

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_HcCkX5G36yjx

10. Chitinous exoskeleton is found in

A. Periplaneta

B. Ascaris

C. Pheretima

D. Hydra

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_HcCkX5G36yjx
https://dl.doubtnut.com/l/_nBY8kA582krM
https://dl.doubtnut.com/l/_nuAlolAso24n

1. Which enzyme converts glucose into

alcohol ?

A. Zymase

B. Diastase

C. Invertase

D. Lipase

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_nuAlolAso24n

12. One mole of glucose on metabolism

liberate how many kilo calories of energy ?

A. 180

B. 80

C. 160

D. 280

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_iZWDSXbQM9YY
https://dl.doubtnut.com/l/_eiXyLOfufs5U

13. Phosphodiester bond is present in :

A. ATP

B. ADP

C. C-AMP

D. None of these

Answer: D

° Watch Video Solution

14. In which virus, DNA is double stranded


https://dl.doubtnut.com/l/_eiXyLOfufs5U
https://dl.doubtnut.com/l/_8hwzk2UqmxdS

A. Hepatitis- A

B. Hepatitis- B

C. Hepatitis- C

D. Hepatitis- D

Answer: B

° Watch Video Solution

15. Which is the most abundant protein on

earth ?


https://dl.doubtnut.com/l/_8hwzk2UqmxdS
https://dl.doubtnut.com/l/_CkhqWmvBxpuy

A. Lignin

B. Rubisco

C. Cellulose

D. Pectin

Answer: B

° Watch Video Solution

16. Essential amino acid which is synthesized

by plant is :


https://dl.doubtnut.com/l/_CkhqWmvBxpuy
https://dl.doubtnut.com/l/_0BPnk00otwv4

A. Phenylalanine

B. Leucine

C. Arginine

D. Serine

Answer: A

o View Text Solution

17. Enzyme responsible for conversion of

glucose to CoH;OH is :


https://dl.doubtnut.com/l/_0BPnk00otwv4
https://dl.doubtnut.com/l/_NhApgswK7IKC

A. Zymase

B. Invertase

C. Sucrase

D. Maltase

Answer: A

o Watch Video Solution

18. How many of the twenty amino acids are

essential amino acids for children


https://dl.doubtnut.com/l/_NhApgswK7IKC
https://dl.doubtnut.com/l/_qFEQ21HgOSjl

A.6

B.8

C.10

D.7

Answer: C

° Watch Video Solution

19. Bacterial cell wall is composed of

A. Cellulose


https://dl.doubtnut.com/l/_qFEQ21HgOSjl
https://dl.doubtnut.com/l/_6KuTSpuue4O1

B. Hemicellulose

C. Both (a) and (c)

D. Peptidoglycan

Answer: D

o Watch Video Solution

20. Allosteric modulation is due to the

inhibition action of enzyme by

A. Competitive inhibition


https://dl.doubtnut.com/l/_6KuTSpuue4O1
https://dl.doubtnut.com/l/_iwuW89UL6Xlr

B. Substrate concentration

C. Products of reaction

D. Enzyme concentration

Answer: C

o Watch Video Solution

Competition File Objective Type Questions

Multiple Choice Questions



https://dl.doubtnut.com/l/_iwuW89UL6Xlr

1. Consider the following statements:

(A) Coenzyme or metal ion that is tightly
bound to enzyme protein is called prosthetic
group,

(B) A complete catalytic active cnzyme with its
bound prosthetic group is called apoenzyme.

Select the correct option

A. Both (A) and (B) are true

B. (A) is true and (B) is false

C. Both (A) and (B) are false


https://dl.doubtnut.com/l/_YWMIxIEdTM6P

D. (A) is false and (B) is true

Answer:

o Watch Video Solution

Chapter Practice Test

1. What is the sweetness index of sucrose ?

o Watch Video Solution



https://dl.doubtnut.com/l/_YWMIxIEdTM6P
https://dl.doubtnut.com/l/_VixHC64q9LjM

2. Give two examples of

polysaccharides .

storage

o Watch Video Solution

3. What is cellulose ?

o Watch Video Solution

4. Which are purines ?

o Watch Video Solution



https://dl.doubtnut.com/l/_4P5VFFozPrcv
https://dl.doubtnut.com/l/_I78xMi2vmFxL
https://dl.doubtnut.com/l/_M2eTs0MKIU8H

5. What is fat ?

o Watch Video Solution

6. What are waxes?

o Watch Video Solution

7. A nitrogenous base is present in RNA but

absent in DNA . What is it?



https://dl.doubtnut.com/l/_M2eTs0MKIU8H
https://dl.doubtnut.com/l/_LIr53uqv8Pqs
https://dl.doubtnut.com/l/_EWmxUaaGz372
https://dl.doubtnut.com/l/_1mqwv4bA6tE7

o Watch Video Solution

8. Arrange the following carbohydrates in the
order of incereasing complexity of chemical
structure : fructose, starch, oligosaccharides,

maltose, triose.

° Watch Video Solution

9. Proteins have been called 'biological

polymers'. Explain.

| & I


https://dl.doubtnut.com/l/_1mqwv4bA6tE7
https://dl.doubtnut.com/l/_XJWYdZ8YRWjR
https://dl.doubtnut.com/l/_zuTK9VzMrxbm

| ¥ Watch Video Solution |

10. How does temperature and pH affect

activity of enzyme ?

o Watch Video Solution

11. What are proteins ?

o Watch Video Solution



https://dl.doubtnut.com/l/_zuTK9VzMrxbm
https://dl.doubtnut.com/l/_cmTgdCPNqy65
https://dl.doubtnut.com/l/_ai5ONI9CAzPz

12. What is Catabolism?

o Watch Video Solution

13. Differentiate between homopolysaccharide

and heteropolysaccharide .

o Watch Video Solution

14. What are conjugated proteins ? Give any

three examples .



https://dl.doubtnut.com/l/_gl7UWoRYJwhu
https://dl.doubtnut.com/l/_UMK3qpXlXCd5
https://dl.doubtnut.com/l/_fUhlaDgAeul8

o Watch Video Solution

15. What is saturated fatty acids ?

o Watch Video Solution

16. What are non essential fatty acids?Give

example

o Watch Video Solution

Chapter Practice Test Section A


https://dl.doubtnut.com/l/_fUhlaDgAeul8
https://dl.doubtnut.com/l/_sG6UZRWQvtBP
https://dl.doubtnut.com/l/_D0uRzUeNhwqS

1. Most abundant protein on earth is

A. Lignin

B. Rubisco

C. Cellulose

D. Pectin

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Ypa4BuKmbuee

2. What is Essential amino acid ?

o Watch Video Solution

3. Enzyme responsible for conversion of

glucose to Co HsOH is :

A. Zymase

B. Invertase

C. Sucrase

D. Maltase


https://dl.doubtnut.com/l/_9P1htD12PIv6
https://dl.doubtnut.com/l/_yVApaPfCEUqV

Answer: A

o Watch Video Solution

4. How many of the twenty amino acids are

essential amino acids for children

A.6

B.8

C.10

D.7


https://dl.doubtnut.com/l/_yVApaPfCEUqV
https://dl.doubtnut.com/l/_7vdaIRJ5zNSh

Answer: C

o Watch Video Solution

5. The bacterial cell wall is formed of :

A. Cellulose

B. Hemicellulose

C. Both (a) and (c)

D. Peptidoglycan

Answer: D


https://dl.doubtnut.com/l/_7vdaIRJ5zNSh
https://dl.doubtnut.com/l/_V6wgCgrtE7sV

° Watch Video Solution

6. Allosteric modulation is due to the

inhibition action of enzyme by

A. Competitive inhibition

B. Substrate concentration

C. Products of reaction

D. Enzyme concentration

Answer: C

| 8 l


https://dl.doubtnut.com/l/_V6wgCgrtE7sV
https://dl.doubtnut.com/l/_XUIQvUHZVzHB

Chapter Practice Test Section B

1. What are non essential amino acids?

° Watch Video Solution

2. Who proposed lock and key enzyme

hypothesis of enzyme activity ?

o Watch Video Solution



https://dl.doubtnut.com/l/_XUIQvUHZVzHB
https://dl.doubtnut.com/l/_hsJNgwavyLWA
https://dl.doubtnut.com/l/_BbBPwggoVVNQ

3. A nitrogenous base is present in RNA but

absent in DNA . Identify it .

° Watch Video Solution

4. Arrange the following carbohydrates in the
order of incereasing complexity of chemical
structure : fructose, starch, oligosaccharides,

maltose, triose.

o Watch Video Solution



https://dl.doubtnut.com/l/_mOZslNqMDmCx
https://dl.doubtnut.com/l/_02kjJvuc62Y7
https://dl.doubtnut.com/l/_tT3PfKh4LiHe

5. Proteins have been called ‘biological

polymers'. Explain.

o Watch Video Solution

Chapter Practice Test Section C

1. How does temperature offers the activity of

enzyme ?

° Watch Video Solution



https://dl.doubtnut.com/l/_tT3PfKh4LiHe
https://dl.doubtnut.com/l/_zAeWB97uCZlR
https://dl.doubtnut.com/l/_l3jZ4Mb1MEX4

2. What are hydrolases?Give two example.

° Watch Video Solution

3. What is monellin?

° Watch Video Solution

4. Differentiate between anabolism and

catabolism.

o Watch Video Solution



https://dl.doubtnut.com/l/_l3jZ4Mb1MEX4
https://dl.doubtnut.com/l/_M8ta0e9GlITM
https://dl.doubtnut.com/l/_FKrrlFPXPZNV

Chapter Practice Test Section D

1. Refer the graph of two enzymatic reactions
and answer the following questions :

(a) What is denoted by plot A?

(b) What is denoted by plot B?

(c) What is C? What is the difference between
C of A & B.

(d) What is allosteric modulation?
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Substrate concentration


https://dl.doubtnut.com/l/_RComoiWrV8EY

° Watch Video Solution

Chapter Practice Test Section E

1. What is Activation energy?

° Watch Video Solution

Case Based Short Answer Type Questions

1. What are the base pairs present in RNA?



https://dl.doubtnut.com/l/_RComoiWrV8EY
https://dl.doubtnut.com/l/_IOSmIMSuEyph
https://dl.doubtnut.com/l/_HkFJCVxrKlba

l o Watch Video Solution



https://dl.doubtnut.com/l/_HkFJCVxrKlba

